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1. (1) Define the term homol%gﬁlls structure. (1mk)
<
............................... \§ S o pvevesanssams ey rasn RGBT e s
(i) What is 11aturaJ;t."tslection'? (1mk )
N
rsieresitvsey Benawusysnnns e e A SR e e R P R
Q}

2. An experiment was set up using visking tubing, which was filled with concentrated sugar
Q¥solution. The free ends were tightly tied to prevent leakage. Tt was immersed in a beaker
C?Q/ containing distilled water. After six hours the observations were made.
N

2 Start of experiment After 6 hours
<<\
N S w{ 4
< N - Clearwater [—=w-= =z . Water turned blue
O ;o .

4 Visking tubing Visking tubing now
containing swollen
concentrated '
sugar solution a
blue die

(a) Why did the visking tubing become swollen as shown in after 6 hours. (lmk)

(b) By what physiological process did the water in the beaker turn blue? (1mk)

3. In an investigation, the pancreatic duct of a mammal was blocked. It was found that the blood

sugar regulation remained normal while digestion of food was impaired.
Explain this observation

4. Lamarcks theory of evolution has been rejected by scientist today. Explain why (1mk)

........................................................



5.An organism was found to process the @:ﬁ’owing features, an exoskeleton, two pairs of antennae,
bilateral symmetry and jointed ap ages.
Giving a reason in each ease stgl@ethe phylum and class in which the organism belongs. {4 marks)

(Y Namethe Partlabel. e i st s s s (2 mk)
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8)Members of the same Species\b%organisms tends to differ due to variation. State four cavses of
variation in organis@s. {4mks)
X
............. 4\6
-------- .@(6-.....-.---......-<.‘..----..r“.--.....<<...-.-.......-.........,‘--........-...-..--......‘.-...,.,.-.
..... L L
&Q
Q,b? ....................................................................................................................
@Q, ....................................................................................................................
e A s e S A R S s
<
2
<<\
\Q; '
L 9)State the function of each of the following parts of the ear. (3mks})
Y
)
N B 0SBl C LB i e S R o R R T S R R S s e e R R R
D) A UdIOrY ROV .« vsvinuisusvussvs b vivsses v wesasapissve oo sanmsisnvp narane s nase s AAT 4 SR IR SRT AT R s
) TYMPANIC MEMDBIADE. ... eenetieuaertaraains s es s et st s s cr e nsab s s st aasaa sttt r e
10) i)Name the spore-producing structures in pteridophyta.........cooooniiimrairiraees (1mk)

ii)The diagram below shows a species of a plant. Study it carefully and answer the questions to follow.

a) State the class to which the above specimen
[o2=] Lol Y S e g S R (1mlk)
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11.State two economic im po_rtang\e\%f the following excretory plant products

&

R
N --
i) Caffeine itzcgea and coffes (2mk)
<
........... Rttt et e e e e et e e e e e e e e e e naeans
\.Q
Q{(}% ................................................................................................
%
\L..C%) Quinine in bark of chikona tree (2mk)
<
<

'12.The figure below shows the epidermal cells from a plant tissue. Study it and answer the questions
that follow.
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{a) Name the parts labeled A and ]%9@ . : (2mks)
Q}Q}k- ”
A §\&
\\ ..............................................................................................
=)
B J
e‘e
............. AR e e e s
N Q
Yl
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Q&QI (b)Give three differences between the cell with structure A and that with structure ¢
<
§0\ Cell with A ~ Cell with C
J
«° i)
ii)
iii)
13.(a) Distinguish between a habitat and a niche. (2mks)

....................................................................................................................

(b)The relative rates of photosynthesis in a certain plant were determined at different temperatures. The

results were as shown in the table below.
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Temp. 'C %QR Relative rate of photosynthesis (mg/hr)
P AN
25 @ | 20
5 |
- & =
30aY 70
R
2
735 100
Q}%
40 25
R
B\
Ac&qﬁﬁ'l for the rate of photosynthesis at
c%f(()/ 35° C (2mk)
NA
<
&7
\QJ
QO& .....................................................................................................................
(ii) 40°C (2mk)
¢)What is the effect of eating a meal with too much salt to urine production in man. (2mks)
14. a) What is eye accommodation? ) (imk)
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16. (a)What are the functions of theg‘b?lowing parts in the mammalian stomach :-
NA
<
GBI G s s s T D
d (ii) Chlef(pcpncﬁftm(l mk)
"X
=)
The diagraéh below shows a section of a dicotyledonous stem.
&’
R
N Q
Q%'% A .
< &
i—@ ¢
o o
<
< D
\Qz
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(b)Name the tissues marked A, B, C and D and state the function of each. (4 mks)
I s e s s AR R A A B B A TS A T A S T A
B o R R R R S S T e e A R A R R R T s
st SR M TR0 N 0 S A A R 9 S A R
D hat b s m e e p s i A S i S R R A R A AR SRR P A R
17.Name the type of response exhibited by the following:-

(i) A pollen tube growing towards embIVo SAC.......ivriiriiveiireier e e eaarntrereaneanns (1 mk)

(il) Maggots moving from the lit side of a boiling tube to the side pointed black... (1 mk)
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18 Bivalent, synapsis, crossing over are tgﬁ%molugies used in cell division.

(a) Name the stage of meiosis@ﬁ}"‘.\’hich the above process occur. (1mk)

e .§s,*

(b) Distinguish betyveen synapsis and crossing over. (2mks)

KN
........................ B S SiTbon e et e R
.................. N '
. 1Q -------------------------------------------------------------------------------------------------------

................. Xy

Q- .
19,Duril@gn experiment it was found that germinating bean seeds released 9.0cm® of CO; and used
A Bem® of O,

e@

<<\

..................................................................................................

.......................................................................
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20.C0]]enclngma cells remain strong and maintain their shape even when completely dry.

Explain.?,Qe

..............................................
..............................................................................................................................

(ii) Explain why the number of predators in an ecosystem is less that the number of
their prey. (2mks)
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24.1) List four causes of seed dormancyoa;%d in each case state the way of breaking it.(4mks)
ol
e e SRR st v s R A A TS
........................ §s\
X
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e‘e
R
Q
X
,0.9
(2 1 ST S o553 g SR Sh SRS eeee e
<
...... %-@
<
2

5 cn w5 50 EASESEE EACHEAeeeeeeoeee

(ii) Explain the change that takes place at the beginning of germination. (2mks)

..............................................................................................................................

..............................................................................................................................

25.A student set up an experiment as shown in the figure below. _

Pyrogallic acid + NaQH [

Soaked seeds

=8

2 o & o o3

A \ Moist cotton)aﬁd( B
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The set-up was leﬂ%f room temperature for six days.
R
o

a) What was the aim ofthe experiment? ( Imk)
=)
eﬁ
.............. AT OO PR SES
&Q
...... é .%.6..‘-.-..--.--..-1--.-....-g-‘..--.-....e-----.--.,--.--------.-.-.....-c....-.--....--‘.--1.-..
@‘o
\L..
<
b}z& Explain the expected results a%ter six days. ( 3mks)
\Ql

.............................................................................................................

.......................................................................................

26.A certain plant was found to have 22 chromosomes in it’s calyx cells. State the number of

chromosomes present in the plants.
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